Zsaq_ L 03— 04
U 77

2}Mwaﬁ&v£ 55‘\/ Gre 5%4536 )&r/ﬂacﬁ :

< : gk« HH 0%
m 7T T M FSO A
|
7 I
w -
4 |
Boast. {1 o
200 |
190 + |
PR ¢

@irfe«-gﬂ,\gr S, (4) = Qoi_“" 4+ 0
Verbind S0 masv e ¢ + b [l crissen: s (20)= ¢85 4,

h
K\ = 15029 9 +4 = &S G,

. h
2

a) Feohomuny oo toitlpunshey clotiiaf Ao vao
7 T e cGallot Dgunaen!!
S ) = S8 g0t b= —AS0L ¢y es S foaso by
_— 2 ‘ :,
. ) o Ao "ftrn
2(‘03%3'@ - 745 G / L¢C —

n

also T (3214)288 2e) gibF Treff3et vl —poca Rt oo

b) tjf/l. A pres and - Ny it ol Oﬁ/@ﬁ’,q;/ g ofoe @%f}% 4

S@=3100 8022 = 320% D¢, 358,
T h _ '
C-_)a,mq N G ()?O-/ VQI’S{A‘,\,\U{ vorher /(/Vw Eeéy‘(()t 2 S;_@ = 320

o

- 15038 G4 $85 2 320 = ¢= 376

91%/6(&4(3 te — t, = 3,52“"3(4‘52: Q’S’é;tq = 23’,3%



